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BUSINESS ENVIRONMENT–604

(Semester–VI)

Time : Two Hours] [Maximum Marks : 70

Note : Attempt any four questions. All questions carry equal
marks.

I. Define business environment. Explain the mutual relationship
of business and environment.

II. Discuss in brief achievement and short coming of the economic
planning in India. Give suggestions to make the planning
more effective.

III. Describe the causes of poor rate of saving and investment
in India. Suggest the measures to improve rate of saving
and investment in India.

IV. Evaluate the main elements and rationale of strategy adopted
in India’s planning.

V. What are the features of socialist economy? How such an
economy is different from a capitalist economy?
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VI. What is meant by private sector? Discuss the importance
and limitations of private sector in India.

VII. Explain the role of foreign trade in economic growth.

VIII. Discuss in detail the instruments of fiscal policy.

IX. Write short notes on any ten :

(i) Objectives of Niti Aayog.

(ii) Resource mobilization.

(iii) Demand pull inflation.

(iv) Main component of economic environment.

(v) Features of mixed economy.

(vi) Significance of public enterprise in India.

(vii) Objectives of monetary policy.

(viii) Liberalization.

(ix) Strategy for Indian planning.

(x) Balance of payment.

(xi) Importance of new economic policy.

(xii) Relationship between variable income and employment.
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PUNJABI VERSION

not : koeI cwr pRSn kro[ swry pRSnW dy AMk brwbr hn[

I. vpwrk vwqwvrx nUM pirBwiSq kro Aqy vpwr Aqy
vwqwvrx ivcly prspr sbMDW dI crcw kro[

II. Bwrq ivc AwriQk ivauNqbMdI dIAW pRwpqIAW Aqy GwtW
bwry jwxkwrI idE Aqy ivauNqbMdI nUM vDyry pRBwvI bxwaux
leI suJwE idE[

III. Bwrq ivc b`cqW Aqy invyS dI nIvIN dr dy kwrn
ivcwro Aqy Bwrq ivc b`cqW Aqy invyS dI dr suDwrn
leI suJwE drj kro[

IV. Bwrq dI XojnwbMdI ivc muK q`qW Aqy ApnweI geI
nIqI dy qrk dw mulWkx kro[

V. smwjvwdI ArQcwry dy l`Cx kI huMdy hn? Aijhw ArQcwr
pUMjIvwdI ArQcwry nwloN ikvyN iBMn huMdw hY?

VI. injI Kyqr qoN kI Bwv huMdw hY? Bwrq ivc injI Kyqr
dy mh`qv bwry ies dIAW sImwvW ivcwro[

VII. AwriQk ivkws ivc ivdySI vxj dI BUimkw ivcwro[

VIII. rwj`sv nIqI dy auprwilAW bwry ivsiqRq jwxkwrI
idE[
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IX. iksy ds dy sMKyp au~qr ilKo :

(i) nIqI AwXog dy mnorQ ivcwro[

(ii) sroqW nUM jutwaux qoN kI Bwv hY?

(iii) mMg-iK`c vwlI mudrw sPIqI kI huMdI hY?

(iv) AwriQk vwqwvrx dy muK sMGtk kI huMdy hn?

(v) imSrq ArQcwry dy l`Cx kI huMdy hn?

(vi) srkwrI AdwirAW dw Bwrq ivc mh`qv ivcwro[

(vii) mudrw nIqI dy mnorQ drj kro[

(viii) audwrvwd qoN kI Bwv hY?

(ix) BwrqI XojnwbMdI dI nIqI ivcwro[

(x) AdwiegIAW dy sMquln qoN kI Bwv hY?

(xi) nvIN AwriQk nIqI dw mh`qv ivcwro[

(xii) bdlxSIl Awmdn Aqy rozgwr ivclw sbMD
ivcwro[

——————


